Activity 7.5 — Differential Equations

. (@) y=Cpye™
(b) y=Cee™

© y= Cle‘%t + Cze‘J?5t =Ce™t +C e
(d) y=C,cos(vi5t)+C,sin(v15t)

. T(t)=70+115e;

B —k(5) _ imoli = —1n(L00):
T(5) =70+115¢ =170 implies k = 5|n(115),

T(5) = 70+115e"ENEIND _yyg0p

y(t) = -1.5cos(Lt)+10sin(Lt) in

y=Cpet — y'= ik(coei'“)z +ky

y' =k [Cle*m] K (cze—m)

Y= k(Cle‘m) . k(Cze“m) _ k(Cle‘m ; C2e‘m) —ky
y' =k (-Cysin(vk t))+ vk(C, coslvi t)

y" = k(- ¢y coslk t))+ k(- Cysin(Vk t))= —k(C; cos(V t)+ C, sin(vk t)) = —ky

. (@ J‘%dyzjikdt -  Inly|]=xkt+C

() Inly|=2kt+C — e"Wgyle*tC 5 y_4eCetkt 5 Ccy=ze©



